[d” sum p_/dnd¢{GeV]

Ratio to ATLAS

oo
&

w

N
&

1.5

0.5

[EEY

0.5

900 GeV p Underlying Event
_I I | I I I | I I I | I I I | I I I |_
- Sum(p_) Density (TWRD) (] < 2.5, p_> 0.5 GeV) -
B m ATLAS _
— - - Pythia 6.428 391 ]
- <-- Pythia 6.428 393 .
--e-- Pythia 6.428 394 7]
— - ¥ Pythia 6.428 395 —
B ]
— ] ,'_‘..ﬁ&-/ ]
- ";—i;;— - ] —
N ] ]

Y
[ - -~ ]
N gu®" ]
| = _
X
- '.- —
[ - ]
- ]
— ’. —
b ]
_I | | | | | | | | | | | | | | | | | |_
:I T | T T T | T T T | T T T | T T T |:
- I
- e }!1 § ;& _|
B ‘8 _
1 1 | 1 1 1 | 1 1 1 | 1 1 1 | 1 1 1 |
2 4 6 8 10

P, (leading track) [GeV]

Rivet 3.1.0, = 14M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


